=]
=voTrscH

P E R F O R M A N C E

www.evotech-performance.com

Triumph Tiger 1200 Explorer
Crash Protection



Installation Instructions  ——

Lefthand Side

(® 1 x Bobbin head

1 x Left Hand Bobbin Bracket

(© 1 x Left Hand Bobbin Bracket Brace
(© 1 x Left Hand Front Frame Spacer
(®) 1 x Left Hand Rear Frame Spacer
(®) 1 x Bobbin Head Spacer

(© 1 x Poly Washer

(H)1xM12x 110x 1.5 Caphead

(D2 x M6 x 20 Button head

(1) 2 x M6 Washer

) 2xM12x90x 1.5 Caphead

(L) 2 x M12 Washer

Righthand Side

M) 1 x Bobbin head

(N) 1 x Rear Mounting Bracket
(0) 1 x Front Mounting Bracket
(P) 1 x Mounting Brace Bracket
@ 1 x Rear frame Spacer

(R) 1 x Bobbin Head Spacer

(9 1 x Poly Washer

(™ 1xM12 Washer

U1 xM12x95 x 1.5 Caphead
V) 1xM12 x 80x 1.5 Caphead
W) 1 xM12x90x 1.5 Caphead
(X) 2 x M8 x 20 Button head

() 2 x M8 Washer



®
Installation Instructions 1 —_——

For bikes with crash bars

« Start at stage 2
For bikes without crash Bars

Start at stage 23













N







In

Install_ation




. _-Installati

TR - —




Sy %% f\- - -t R
BT S

"

Installation Instructions

2 ——













T




_ctions

o







_ Installatio_n Ins




Installation Instructions







Sp—

Installation Instructions

—— e




nstructions

o ——







Installatio__n Instr




_ W~ >

Installation Instructions

P




———

Installation Instructions




S

Installation Instruction




~

Installation Instructions




- —

Installation Instructions

D el D ——













N

P SR RRRN

Installation Instructions

A R R MR RS




S NE




Do Not Fully
Caution Ti g hte N
o 2N




Installation Instructions




R A L T - e A LT A —

Installation Instructions

- e




‘3 R 2 e

Installation Instructions




Installation Instructions







Installation Instruction

e e




stallation Instructions







—c— — . ——

Installation Instructions




—

Installation Instructions

—




A PO

Installation Instructions

Do Not Fully
Caution Tig hten




Fully
Caution Tig hten




Installation Instructions

|

y Tighten
90NmM
— A

[A Full



InstaIIatlon Instructlons

e e S—

Fully Tighten
Caution SONm




Installation Instructions 48 —_——




Installation Instructions 49 —_——




Installation Instructions




Installation Instructions




Installation Instructions 52 —_——

R St
(( 2§\Ze1rse ages



c
Q
VR
)
>
e
e
(%]
=
c
0
—
1)
©
+—
S.,
m.




N, (e
Installation Instructiq_r)s

e ——t

Fully Tighten
.._ Caution 40Nm




Installation Instructions 55 —_——

Repeat Stages

1-27 for the
Right hand side



(%]
c
o
R
iV
>
—
)
(%]
=
iy S
2
)
1)
©
o+
(%]
=










Ll

Installation Ins uction







PN\ S £

Installation Instruc










% R “—‘k .\

Installation Instructions

 —— e A RO — . T - NI WS

A o Not Fully

ot Tighten




Installation Instructions







Ions

Instruct

on

In$taHat







A Do Not Fully
Caution Tighten




Installation Instructions




Fully Tighten
Caution 90Nm

Y.

S



s

tallation Instructions

e —— -t ..~ ST

Fully Tighten
Caution SONm




Installation Instructions /3 —_——

Reverse Stages

(( 27 - 1 for Right hand

side



Installation Instructions /4 —_——




Installation Instructions /5 —_——




Installation Instructions




Installation Instructions







A Fully Tighten
aaaaaa 4A0NmM




Installation Instructions

A ESSENTIAL CHECKS A

It is recommended that periodic inspections are made to
ensure that all bolts are tightend to the specified torque settings.

Should the bike be involved in an accident a thorough inspection
should be made and any components that have taken an
impact, no matter how small, be replaced




==
=Vc_|_==|—l

F O R M A N C E




